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Question Number : 1 Question Id : 3354726631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bandhawvgarh 15 located in ___________ district of Madhva Pradesh and was declared as Mational Park in the

VAT ___________ | STEETE MRS W ___________ Forer o 7 v ad H O FE o e H uiie e mar
o

Options:

1. ® Sagar, 1967 | AR, 1967

2. % Shahdol, 1969 | MEEd, 1969
= ¢ Umaria, 1965 | AL, 1968
4. % Ujjain, 1966 | 3=, 1966

Question Number : 2 Question Id : 3354726632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which Indian satellite has performed several diverse tasks? | T IG 1 JUIE = a1 T2 w7t @7 nes— e g7

Options:

1. ¥ INSAT | evie

2 ® Aryabhata | ARV
% % Rohini | Tg0

4 % Bhaskara-1l | AE®H-11

Question Number : 3 Question Id : 3354726633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which Rajput clan onice ruled over Bundelkhand? | o TR 59 F aaas & S T a1 JTa- T 477

Options:

1. % Rathors | &

2. % Gaharwars | Oidr
3. #® Chauhans | TEH
4 ¥ Chandelas | @2

Question Number : 4 Question Id : 3354726634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

World Day of Social Justice' is celebrated on ________ of every vear. | ‘®THIE a2 91 o feaa geaa
T AT AT 31

Options:

1. % 20th February | 20 il
2. % 19th February | 19 Tar
% % 18th February | 18 War

4, % 21st February | 21 Taer

Question Number : 5 Question Id : 3354726635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What i3 the name of the payment app launched by Google India after demonetization? | [ELAETUETCICRIUE]
ST ERT A T T UHe OO T AT AT 87

Options:
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1. % Bhim |
2 ¢ Tez | 9

% % Rupay | &
4. % Dhan | a9

Question Number : 6 Question Id : 3354726636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who were the Champions in Indian Super League Football 20167 | $i2<H o2 & Geaiw 2016 # Hfie| #1947

Options:

1. % Atletico de Kolkata | Teale®T =1 weaTal
2. % Kerala Elasters | 90 salleed

Z. % Delhi Dynamos | el SE-wE

4 % Murnbai City | Has s

Question Number : 7 Question Id : 3354726637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Ri%ht to Information Act was passed in India in the vear
22T T

Options:

1. % 2011
= % 2009
3. % 2007
4. ¥ 2005

Question Number : 8 Question Id : 3354726638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is the drieseplace in India? | FHERET & @59 a1 aRT H Tewt J9F G204 57

Options:

1. ® Raichur | TR
2. % Anantpur | SFd
3. % Gulbarga | Twarl
4. ¥ Jaisalmer | SEAHT

Question Number : 9 Question Id : 3354726639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwho is recently appointed as the Director General of National Investigating Agency (NIA)? | ST T H TR A=
T (. 31,17 { o Agli-oad & & H foe T o mam 27

Options:

1. ® ashol Lavasa | a7sTidr samar
2. % Rajiv Meharishi | T A5
= ¥ YV.C Modi | aTE AT

4 % sunil Arora | A SRIET

Question Number : 10 Question Id : 3354726640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

which one of the following films did Satyajit Ray make for children? | FAcEs o & e haw ®1 aqafea aa =
CEEEATIMCEIEIEI

Options:

1. # Pather Panchali | TR T=&T
2. % Sonar Kella | 9T [T

% % Aparajitho | smRTfaer

4. % ashani Sanket | ST &T

Question Number : 11 Question Id : 3354726641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The immortal poet Kalidasa belonged to the town of ________ .| STHT Wi W ___ el O HalTa 4
Options:

1. % Ujjain | 3=

2 % Bhojpur | 9T

% % Hoshangabad | g1METE

4 % Indore | 22X

Question Number : 12 Question Id : 3354726642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The _________ state government started Pashudhan Bima Yojana in July 2016, | 996 2016 § _______ Tl ACHT
+ TITE & T AT I
Options:

1. ¥ Madhya Pradesh | 7T 0
2. % Uttar Pradesh | 3% 0da

3. % Tamil Nadu | TE#Z
4. % Harvana | gitzmm

Question Number : 13 Question Id : 3354726643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Madhavgarh Fort isin ______ district of Madhya Pradesh. | ATHaTE ToraT Aeamaar &

Options:

1. ¥ Satna | 9441
2 % Seoni | TEHT
3. % Katni | @
4. % Dhar | o

Question Number : 14 Question Id : 3354726644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The %min cormmercial center of Madhya Pradesh is situated in ______ | RS U T G AT gy

Options:

1. % Indore | 227

2. % Ujjain | 3=

3. % Jabalpur | SEAYY
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4. % Gwmalior | DT

Question Number : 15 Question Id : 3354726645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which is the nearest airport to Mandu? | 8g & F@eaq gag 55T #4971 87
Options:

1. ® Nagpur | 9T

2. % EBhopal | AT

= ¥ Indore | B2

4 ® Gumlior | T

Question Number : 16 Question Id : 3354726646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eoteshwar Mahadewa termple in Balaghat district 15 situated at
e

.| =TeTETE TR H Fire AR Hiey

Options:

1. ® Famtola | TR TAT

2. ¥ Kashitola, Lanji Tehsil | #TAaAT, AT ag6a
3. % Laltola | #T& T

4. % Gyraltola | T qIaAT

Question Number : 17 Question Id : 3354726647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is cormrmon between Damodar river in Chotanagpur and Narmada in Vindhya and Satpura? | =Har # et
AT TagsT ﬁaﬁa:@rﬁﬁaw%aﬁamw%

Options:

1. # Both hawve huge catchments | AT Faa S@0gm &

2. % EBoth have commen source | Si=l e ST #id 5

= % Both are used only for hydel projects | ST g Tl 6T THa=-Ta! & o Jua &g a5

4. % Eoth are flowing through rift valleys | 31 SX OTiedl & ATeaq 9 &% 1 &

Question Number : 18 Question Id : 3354726648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When was Madhya Pradesh given the status of a full-fledged state? | We= U ®1 Uk Y01 T2 @1 o1 el AT A7

Options:

1. % 1st Novernber 1945 | 1 9afaY 1945

Z % 1zt Moverrber 1956 | 1 9=l 1956

3 % 11th May 1957 | 11 #a%a¥ 1957

4. % Z1st Novernber 1956 | 31 9aFR 1956

Question Number : 19 Question Id : 3354726649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which Indian bowling legend retired in 20177 | 2017 # Tore G0 a1 e = g4 &

Options:
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1. % Harbhajan Singh | 5o &g
2 % Piyush Chawla | di<g e
= ¢ Ashish MNehra | s Sger

4 % Ishant Sharma | TaMT a8t

Question Number : 20 Question Id : 3354726650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Indian Supreme Court banned fireworks in which state of India for Diwali 20177 | WG @iy = =+
TiamET 2017 @ 6T IT o o T | Tid eIt 1 Wi Tad @ o 977
Options:

1. % Delhi | TFaT
Z.% pgsam | EMH
= # [ttar Pradesh | Z9% 024

4, % Harvana | giezmm

eneral Maths and General Aptitude

Section Id : 335472194

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472194
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of 8 numbers is 949, The difference between the largest two numbers is 18, The average of the .
rermaining € numbers is 87, The largest among the 8is; | 8 STl &7 6 99 81 Herd ehS T & Fearsii & &= #7 sia)
18 81 7 & gt @ offeg 87 81 8 wenel § Jad g1 &

Options:

1. % 130
2. % 18EL
3% 126

4. ¥ 144

Question Number : 22 Question Id : 3354726652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Aman has = sisters and 5 brothers. I his sister Shantha has A sisters and B brothers, then the product AB 15: [

A F 3 wg AR S WL B Al IR dg AT BT A FE AW E 91 . 1 EA AR £
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Options:
1. % 10
Z % 15
3. %3
4.9 12

Question Number : 23 Question Id : 3354726653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The HCF of two numbers 4 and E is 15. Which of the following can possibly be the LCM? | 21 #aralf &4 T E &7
HEad HAWER & 15 8 T 7| O & 19 91 fga Gaad & 51 awdl a7

Options:
1. % 20

2. % 180
3. % 140
4. ¥ 120

Question Number : 24 Question Id : 3354726654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the possible base area of a cuboid whose volume is 6x* — 18x 7 / Uch HATH IEECD

AT 6x% — 18x & 3T GHITAT 3MUR &5 4T & Thdl 87

Options:
x?— 3x
il
3x — x?
T =
3 % 6x*
6x — 6
4 %

Question Number : 25 Question Id : 3354726655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

—

(] | ]
(F¥) L

Options:
1.9 4

2. %1
3.%0
4. % 18
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Question Number : 26 Question Id : 3354726656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2x2+Txy+6y? =2

Options:

1.9 (Zuv+3v) (x+2v)
2 % [(Zx+0v) x+2v)
% % (Cuy+3v) (2u+v)
4. % [ZIx+Iv) (2u+v)

Question Number : 27 Question Id : 3354726657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | &g e

72,75, 25, 44, 14
Options:
1. % 44

> ® 45
3 ¥ 48
4 % 47

Question Number : 28 Question Id : 3354726658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In triangle CAT, ZACT = ATC and ZCAT = 36°. If TR bisects AT C, then ~CRT = s
J TAHIUT CAT #, LACT = LATC 3R LCAT = 36° TG £ATC &I TR GAAITA T

& d “CRT= |

Options:

36°
1%

5 % 54°

i T
SR
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90°

Question Number : 29 Question Id : 3354726659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Two bananas and a guava cost Bs. 7. Three bananas and two guavas cost K5 12 What 15 the cost of one

guava? | of Al oY U e FT Hrd 7 304 21 o 19 el K of e 91 god 12 30 81 U 3% ®1 o d F4T 57
Options:

1. % Rs. 2| 2 &0

2 ¥ ERs 33w

3. % Rs 5 |Semd

4 % Rs 7|70

Question Number : 30 Question Id : 3354726660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Each one of the 29 students in a class has one dog or one cat or both a dog and a cat as pet. Twernty students

hawe a dog and 26 students have a cat. How rmany students have both a dog and a cat? | 29 T T T
ﬁmﬁwwgﬁnmwﬁﬁﬁmgﬁnmﬁﬁﬁaﬁ%mmﬂﬁwﬁ% Eﬁﬂﬁﬁ%‘q’faﬁwwgﬁnmza et &
T e Teeett 81 fra fentdat 3 o g ot faeat giet 87

Options:
1. % 12
2. % 10
3.9 7
4 % 5

Question Number : 31 Question Id : 3354726661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the speed of the train 400 mlong which passes through a 200 m tunnel in 40 seconds? | 400 WX el
T LTS ol T 34T & AT 40 w@rs # 200 fﬁgwaﬁtrr{tm“r%

Options:

1. % 36 km/hr | 36 Tt EeT
2. % 38 km/hr | 38 fEATjEeT
% % 44 kmjhr | 44 T EET
4. % 54 kmihr | 54 fEETjEET

Question Number : 32 Question Id : 3354726662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If the length of a box is increased by 50%, breadth is increased by 10% and height is decreased by 60%, thern
by what % will the volume increase or decrease? | Ate UF Toed & dals S0% T 95T ol A1 5, DS 10% FagT 1T 2
FETE 60% ¥ T ST AT, 97 Sa- [ha- Widard & ST 1 ©eTir?

Options:
1. % 0%
2 % 34% decrease | 34% Ued
% % 34%increase | 34% ThE
4. % Z0% decrease | 0% Ted
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Question Number : 33 Question Id : 3354726663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& boat covers a distance from A to B downstrearn and E to & upstrearm in 4 hours. If the speed of the stream is

2 kmm/hr and the speed of boat in still water is 4 kmjhr, then the distance between & and Bis: [ @& AT A T E &

%ﬂﬁ T ! TG H U B # & 2R o Teeg 4 o H a0 @d 1 51 Aie T @1 T 2 Tt oeT § Ua 8 urt # A1 0 mid 4
JHeT, AT SNB F A= b gl g

Options:

1. % gkm | 8 o
2 % 9km | 9 T
3 % 4km | 4 T
4. ¥ §lkm | 6 Tt

Question Number : 34 Question Id : 3354726664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of the present ages of Ajay, Vijay and Sanjay is 75 years. Five yvears ago, the respective ratio of their

ages was 3:4:5. What is the present age of Sanjay? | &R, T ST @< hI T AT g HT AMHA 75 T4 51 gy o
,WWWWWSA:Smmfﬁ%ﬁmﬁmﬁﬁ?

Options:

1. % 20 vears
2. % 25 vears
3. ¥ 20 vears
4. % 35 vears

[ 20 T
| 25
| 30 T
| 35

Question Number : 35 Question Id : 3354726665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Pal t‘.-'-.TO—Idigit num]:ger whose sum of digits is 9, reverses Wh'?ﬂ £33 15 added to that I'lTI_J.IleEI'. The numtber is; | abf
STRT T e ST @ AEd 9 5 wﬁgﬁﬁﬁs‘rﬁ%qﬁaﬂﬂwﬁ 62 FAESTAET 5 95 G 5

Options:
1. ¥ 18
2. %27
3% 36
4 % 45

Question Number : 36 Question Id : 3354726666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 42— 40x + 10 = 0, then the value of x2 — 10x+ 5 equals to ./ afe 4x2—-40x+ 10
=0, @ %2 —10x+ 5 &7 A & I Bl

Options:
1.¥ 25
2. % 15
2 %0
4 % 2§
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Question Number : 37 Question Id : 3354726667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ify/2 = 1.4, then the value of V50 - V18is: / If¢ V2 =14, @ V50-V18 &7 AT &
Options:
1. %2
2. ¥ 28
3. % 3
4 % 34

Question Number : 38 Question Id : 3354726668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What should I add with 0.1 x 3000 to get an armount equal to Rs. 3007 | 300 T & sfier 16 0TH #0 & o] g
0.1 x 3000 H 4T ST ATiEy?

Options:

1. % Rs. 3| 390
o % Rs 2z
= % Rs 117
4 ¥ Rs 0] 07T

Question Number : 39 Question Id : 3354726669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Themedian of 5, &, 25, 22, 24, 18is

Options:
1.9 20

o % 20
z % 15
4. % 34

1 58,25,22 34 18 W HEAET ______ 2

Question Number : 40 Question Id : 3354726670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pooja is 13 years younger than Bella. If the sum of their ages is 25, then how old is Bella? | 391, o@T & 13 & g1
E a:{%rﬂ'cﬁ ST T THA 25 &, TT ST &1 A7 72T 77

Options:

1. # 15 years
= % 20 vears
3. ¥ 19 vears
4. % 17 vears

15 o
=0 =g
1 o

!
!
!
{12 =

Cereral Hindi

Section Id : 335472195
Section Number : 3
Section type: Online
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Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472195
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ATTTEIErT 25 ol T 5 -

Options:
1. % 4
=z %3
3.5
4 % 2

Question Number : 42 Question Id : 3354726672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options:

1. ® o s

2 ¥ e T
z. % ggm e
4. ® I =T

Question Number : 43 Question Id : 3354726673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tt # s et -
Options:

1. %@

2 % T

3. %3

4 o ar

Question Number : 44 Question Id : 3354726674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AYE T R -
Options:

1. % Z=ar

2 % ogAr
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3. % FEAT
4, ¥ Ryzdht

Question Number : 45 Question Id : 3354726675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
|t W T T 2

Options:
1. §=
o %3y
3. % Or
4. % Omr

Question Number : 46 Question Id : 3354726676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
* FTAT F T g H & T A e

Options:

1. % feger
= % g

3. ¥ T
4 % Fam

Question Number : 47 Question Id : 3354726677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Hieed T2 & T o fotel 99 # & @19 97 0F aeg 27
Options:

1. % wrgaeT

2. ¥ Arieicad

3. % #ArpeE

4 ® giEg

Question Number : 48 Question Id : 3354726678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Trmer FT A g g A E T AT Y
Options:

1. % fag+are

2 ¥ Ta+Ea

3. % fqa+wa

4 % Fr4aw

Question Number : 49 Question Id : 3354726679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘TeF ® AW e M g R ETR?
Options:
1. v W
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2.33]:@:”
3% 7

4. % g

Question Number : 50 Question Id : 3354726680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
7 Ut & o1 geg Mg H AT 87

Options:

1. % famior
2 ¥ g
3 % Ty
4 % fwm

Question Number : 51 Question Id : 3354726681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TSI deg g # & 19 A7 G 57

Options:

1. % ety gara
2. & e auE
3. % TmremEE

4. % FoIE AR

Question Number : 52 Question Id : 3354726682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“FET AT gerad F1 e Fe A w A g

Options:

1. % | H F5C ITAT

o ® FEe @l Ieal g

%, o A = a1 FEAT
4. % arvEey THE FeAT

Question Number : 53 Question Id : 3354726683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘UST W G T T H BT EGTE?
Options:

1. % gaizd

2 ® gigg

3. ¢ gizd

4 ® qifvgg

Question Number : 54 Question Id : 3354726684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“FET T T TUTT W SH | W AT R

Options:
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1. % Joarg
= & ot
3 % T
4. % FTar

Question Number : 55 Question Id : 3354726685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TS o 51 & oTe o 51 #1716 WIS
H I AT SFF R 51 T5l fowed gimu?

Options:

1. ¥ oo SEE
2. % Wiy aEa

3. ® U SIEET
4. ¥ IGAE SEFT

Question Number : 56 Question Id : 3354726686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

tet fe ™ aerew # e aeg & T Agl B geg e ow s & giE e -
e T feamg qarg s Ho_______ |

Options:

1. % mamET
o, & Tt
3. ® TEamee
4. % foda

Question Number : 57 Question Id : 3354726687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ToaT feg O @ | atar g -
Options:

1. % Tqo7 &y

= % ghg ater

3. ¢ T ET

4 % srmie |

Question Number : 58 Question Id : 3354726688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
et 7w e T E -
Options:

1. % goein

2 ® REREET

3 % gaig

4 & yaETieT

Question Number : 59 Question Id : 3354726689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
AT gerak! § @19 o7 dwed ! 31 F10 HeeT S 3 9T ®1 0wl s -

Options:

1. % T weAT
2. % O =T
3 % g # A
4. % g gHET

Question Number : 60 Question Id : 3354726690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HAT-TTH T THE- 31]5 EREEN

Options:

1. HaT T

2. ® dawm

3 % HErEw

4, % T ¥ ol Ty

Fural Economy and Fanchayati Eaj

Section Id : 335472196
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number : 1
Sub-Section I1d: 335472196
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The power of supervision of state government employees on deputation to Zilla Fanchayats rests with
T O o FHATICT o TSaaoT dif ol T § 0id i i arfemerr o T 1

Options:

1. % District Collector | FwTetar

2 ¥ State Government Departments | I SR & o
Z. % Zilla Panchayat CEO | FH&T vemae o dgat

4. % Janpad Fanchayat | F=0g 0=

Question Number : 62 Question Id : 3354726692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Who is appointed as Chairperson of District Planning Committee in Madhva Pradesh? | T ndar # e ==
afafe & arewry & =0 § T T T e 87

Options:

1. ¥ Chairman of District Fanchavyat | a1 U= @7 e
2 ¥ & Minister | @ AET

2. #® Divisional Cormrmissioner | T2 #HamT

4 % District Collector | FI#T Foige

Question Number : 63 Question Id : 3354726693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The objective of Krishi Shramik Samajilk Suraksha Yojana was to provide_______ to agricultural workers. | FY
ATHE T FTT T I59 Py A0 HT _______ T AT &M

Options:

1. % land | 9ffr

2. % employment | T
3. % health care | TaTET SEATA
4 life insurance protection | e sTHT GT&T

Question Number : 64 Question Id : 3354726694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who armong the following is the Union Minister for Agriculture & Farmers' Welfare? | IHafeed # & &9 #rg g
T TFeT T AT 87

Options:

1. % Radha Mohan Singh | 7747 7159 &g

2 % Ram Vilas Paswan | O9 f&&m o=

3 ® Ashok Gajapathi Raju | arsiier Teaid TR
4. ¥ Giriraj Singh | e &g

Question Number : 65 Question Id : 3354726695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The regulator of Micro Finance in India is _______ | IRT H ATEE T e T e ___ &l

Options:

1. ® Finance Ministry | & 73

2. % Reserve Bank of India | frad @ i iz
% ® State Bank of India | & d% ofiF gizar

4. ¢ None of the above | IWIHT # & #1751

Question Number : 66 Question Id : 3354726696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
After the 72rd Amendrment, Panchavat ElECtiQﬂS were held for the first time in Madhva Pradeshin _______ A

75 G o o, HEAWES H UgsT A ____ # TR AT B
Options:

1. % 2000

2 % 1994

3 ® 1972
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4. % 1989

Question Number : 67 Question Id : 3354726697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Howr gny %bjects hawe been given in the 11th Schedule of the Constitution? | Ficem @1 1 1< argeet o fraT
Temer Ty T

Options:

1. % 11 subjects | 11 o
2. 29 subjects | 29 Twg
= % 30 subjects | 30 T

4. % 40 subjects | 40 fomg

Question Number : 68 Question Id : 3354726698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

%i%‘l 5 the National agency that encourages bee-keeping in India? | WRT H We[HFET &1 SFTAT o AT T 1T FAHT

Options:

1. % Department of Apiculture | WeFEE! qTe- fomT

2 % National Bee Research Institute | TET AeAFE! e dem=
3. ¥ National Bee Board | TER Aywerd! dig

4. % Honey Development Corporation | J5g fdeme fmm

Question Number : 69 Question Id : 3354726699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In India, the value of output from livestock sector was about _____ percentage of the value of the output from
total agriculture and allied sector in 2015-16. | 9T H, WM 89 & Fo0TeH 1 Hrd 2015-16 § e iy ofK Heg 59 9
FeHTG & Hrd W _____ idaT «m

Options:
1. % 18
2. % 20
3. ¥ 239
4 % 38

Question Number : 70 Question Id : 3354726700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following bodies conducts elections to Panchayats in states? | Haie&d # & & @7 Frem =4t #
TTRIAT & AT AT BT 57

Options:
1. ® Election Commission of India | 9T &7 etz s

2. ¥ Respective State’s Election Cormmission | TaTad = & Aot smam

3. % Ministry of Panchayati Raj in the state | T 8 0= T I A3
4. ¥ District Collector of the respective districts | FefeT el & AT Feidet

Question Number : 71 Question Id : 3354726701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Mat%t?;rpe of bank account can be opened by a Self Help Group? | H—mﬂﬂﬁmﬁm WeRTE T i TTT FIeT AT
AT 5

Options:

1. ® Fixed Deposit | FIETer AT

2. % Current Account | =T GET

3.9 Savings Account | sRIT GET

4. % Recurring Deposit Accounlt | 3TadT =0T TTET

Question Number : 72 Question Id : 3354726702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wages under MGHNEEGSS are 10 be paid within
ST &

Options:
1.9 15
2 % 10
3 R 7
4 % 1

Question Number : 73 Question Id : 3354726703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rﬁmi% of the following is NOT considered as a village industry? | FafarET 8 & g ua o 32im & &0 8 981 g1
AT &7

Options:
1. % Coir | TTAHA 2T

2 % Bee keeping | AyAadlr OTe

3. % Palmgur | 9THIT
4 ¥ Fertilizers | Jo0@

Question Number : 74 Question Id : 3354726704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is a programme launched in 2016-17 with the objective of enhancix;%opportunities for
entrepreneurship among rural youth? | FafafEs # & w9 a1 #few 2016-17 § i garst & &= 22w
azm'gf F AT & T4 F I T T 87

Options:

1. ¥ Rural Entrepreneurship Programme | ® Ueei=a 1§ T

2. % Integrated Rural Development Prograrmme | S8 eE ¥d SadThz T

3. ® Training of Rural Youth for Self Employment | $THTT SiTF & T B Ao TrATade
4, ¢ Start Up Village Entrepreneurship Frogramme | #2128 &7 feler Ueti=ai & T

Question Number : 75 Question Id : 3354726705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Frovision of Urban Amenities t0 Rural Areas (FURA) s a Strate%qenvisa ed by which of the fOllDWiI'lg

ersonalities? | e SiTE Sfe- QU & & T (T &3 @ o] J54r 31T T WTErerT) (TR e T & =
%qﬁﬁawﬁm*ﬁﬁﬁmﬁrmwﬁﬁwﬁnﬁ@

Options:
1. % Dr M. S Swarminathan | ST TA.TA GEmH=H
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2. % Baba Arte | STeT ATHE
2. ¥ Dr. AP ] Abdul Kalam | STOULH SREGH e
4 % aAnna Hazare | AT AW

Question Number : 76 Question Id : 3354726706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Elections to Gram Panchayat is done through

Options:

1. % Open ballot | Tol &g

2 % Yoice vote | wT AT

% % Raising hands | 517 a1
4+ Secret ballot | TOT &FT

Question Number : 77 Question Id : 3354726707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Under Swarna Jayanthi Gram Swarozgar Yojana, a beneficiary can becorme member of how many Self Help
Groups? | F@ FAd T UTH FeeR IR AT 3% SfaTia, @rardt e S SgraaT aag! &7 Jaed @ a%dl 57

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 78 Question Id : 3354726708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Thich d gerlc is entrusted with the implementation of MGHEEGS at state level in Madhya Pradesh? | #2 ‘.:lé:-?Tﬁ
T T 0T T TeFTmarae Torey Tt &1 &y T2 57

Options:

1. % Madhya Pradesh State MMNREGA implementation Cormmittes | T2 W8T T4 AT [aT-aa- Tifie
2. % Madhva Pradesh State Employment Corrmittes | T2 T2 U= LT Gidi

= ¥ Madhvya Pradesh State Emploviment Guarantes Council | A W T4 T Tl Tig

4. ¥ Madhya Pradesh State Employment Exchange | W& W2sr T4 T &g

Question Number : 79 Question Id : 3354726709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which state has first adopted biometric systerm under MGNEEGS 7 | BT & ST o0 1o = o Uga a1aAe s
THETH w1 Ty

Options:

1. # Madhya Pradesh | FeT 0ar
= % Karnataka | ®ic®

= ® Rajasthan | TFe

4 ¥ Kerala | od

Question Number : 80 Question Id : 3354726710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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which of the following is NOT true about the Jan Dhan Yojana scheme of the Government of India? | 4wd

T & AT 217 AT o T § Toglerag o & oam aeg a51 87

Options:

1. % It was launched on 15th August 2015 by the Indian Prime Minister. | 95 15 ST 2015 & ART & TUHADT

BT % et T/ am

2 #® Account holders will be %I‘Gwded barnk accounts with no minimurm balance. | EET AR & &1 ~gAaq Tid

I TN o & G I T

Z. % Each account holder will be issued Fupay cards.

| e AT N W1 & W AT ey S

4. % Every account holder will be given accidental insurance cover of Rs. 1 lakh. [ Wods 911 dHE F 1 g w0

T GEICHT & (AT [T =TT
Cornputer Enowledge
Section Id : 335472197
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472197
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The _______ i3 code that recognizes some special sequence of input or is triggered b}.? being run from a certain
user 1D of by unlikely sequence of events. | ________ aE I & AT EAYT & FT TH T ST TG 5 AT Tt &
STETET ST F &R I ATEET & FATeId 15T =17 457 51T 21

Options:

1. % Trap doors | SUEN
2. ® Trojan horse | T 59

3. % Logic Bomb | @ 9i8e
4. % Virus | 9RRG

Question Number : 82 Question Id : 3354726712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The computer unit that is used for mathernatical operations such as addition, subtraction, multiplication and

division is knowrn as: | 7% FAIIE e FawT SO TS, T, 0T TG 907 A4 Mt iy w9 % B e [
%, T w1 8

Options:
1. ¢ Arithrnetic and Logic Unit | sefATEs 0= @hae e

2 % Control Unit | Fgid gie
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= % Primary Mermory | TIEHL HANT
4. ¥ Secondary Memory | HHEC HANT

Question Number : 83 Question Id : 3354726713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Inn MS Excel, & _______ is identified by the cell in the upper-left corner and the cell in the lower-right corner,

separated by a colon. | TATT TFAA §, TF _______ T FR-ATT T H e o G FT A2 i # el g g d
HATAT & FARTE U IeTT BT STET T AT )

Options:

1. ® worksheet | gl

2. % yalue | A

3. % cell reference | & BT
4 ¥ range | 9

Question Number : 84 Question Id : 3354726714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which %g:une of the following shortcut keys opens a new docurnent? | AR § § #1499 aide & UF 741 STaghe

Options:

1. % Ctrl+HM
2. % Ctrl+5
3. % Ctrl+C

4 % Ctrl4+F

Question Number : 85 Question Id : 3354726715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IP stands for: | SMEUT &7 quf &7 8

Options:

1. ® Information Protocol | ST Hields
= % Internet Protocol | See-e Wiz e

3. # Inet Protocol | S+ Wii@d

4 % Insert Protocol | $98¢ WEima

Question Number : 86 Question Id : 3354726716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Low level languages are also known as: | @ #idd cllee &1 56 A0 & 9 T=1 a7 2

Options:

1. % Source code | 9 HiE

2 % Middle wares | THEA 92w

3. % Assernbly Language | STEEEE! sl
4 ¥ Machine Language | e wTasT

Question Number : 87 Question Id : 3354726717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following is an exarmnple of ‘Title Case'? | HATATRET § § F4T TR0 &6 ®T T JEE 57
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Options:

w, Dear Sir

> % dear Sir

= % Dear sir

4 ® dear sir

Question Number : 88 Question Id : 3354726718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT algé‘l_[a numeric combination like D2 in Excel would mean a: | TFas § D2 S % AT JH e G 37 o

Op;ions:

1. % Workbook address | Theg® U2d
2. % Worksheet address | F@dle 124
= ¢ Cell address | 99 129

4 % File name | W & 910

Question Number : 89 Question Id : 3354726719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct 1 Wrong: 0
___________ device is used to connect rltiple nodes 1o the networl, [ O

Sﬁ?ﬁﬂlaﬁ T FIpT F o Told T AT R

Options:
1. % router | 7130

2. % repeater | fofier
= ¥ modem [ A=W
4 ¥ hub | &=

Question Number : 90 Question Id : 3354726720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The excel file is called a workbook because: | UFHd 15, UF dhg® Pealdl &, Fair

Options:
1. % It can contain text and data | 5O TFHe AT ST TFdT 2
2. % It can be modified | 59 TN T 2T AT 94T 21

z %th can contain many sheets including worksheets and chart sheets | 588 F@dfie FaT T ST OigT a-F diT 5

4. % Crne have to work hard to create it | 58 S9 & 6T Sgd THesH a7 027 5l

Question Number : 91 Question Id : 3354726721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which screen area do you See after you turn on the cormputer and log on to windows? | S0 FHIILT 317 @ T
T | &1 T F O 1 &1 el IHAT §&d 27
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Options:
1. ® Hard Disk | g12 T26q®
= ® Monitor | BT
3. ¥ Desktop | 2HFCT
4 % Start Menu | T8 O

Question Number : 92 Question Id : 3354726722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The valid format of M5 Word is: | THIH T2 HT 98 BIHe &

Options:

1. % jpeg
2 % prg
3. ¥ doc

4 # oye

Question Number : 93 Question Id : 3354726723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When sending an e-mail, the ________ line describes the contents of the message. | $-Hd 993 G0,
TS, Hedl @ AUt & 9w # alama avar gl

Options:

1. % Tofg

2. ® CC | #Er

3. % Contents | #d0
4 ¥ Subject | FEAFT

Question Number : 94 Question Id : 3354726724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1024 GE is equivalent to: | 1024 S&l 56 e¥ = §AT 5 -

Options:

1. ¥ 1TE
2 % 1GE
3. % 1FE

4. % 1ME

Question Number : 95 Question Id : 3354726725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the keyboard shortcut (button or buttons to be pressed) for creating a chart in MS Excel 2007 from the

selected cells? | Holdre @1 T8 Held & TAUE Tgde 2007 § T 218 a1 o o] T -l A e (Ga1s < sl se- T
T2 T JUHNT T T 57

Options:
1. % F5
= ¥ F11
3. % F2
4. % F7
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Question Number : 96 Question Id : 3354726726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When you connect to this service your cormputer is cormmmunicating with a server at your Internet Service

Promder {5P). What does this refer? | <& I 56 ol & JSd &, a7 HTHEHT FHIIET A0 Soi-e diad Mage ([SF) I 0%
& AT T e AT 5] g T HE AT Fdl g7

Options:

1. ¥ Modern | AI2H

= % Internet | TodAT

= % Intranet | T2
4 % Server | WA

Question Number : 97 Question Id : 3354726727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
PDC stands for: | TERT &7 q0f &7 8

Options:

1. % past domain Controller | YRE SH Fgiot

2. ¥ Primary domain Controller | TEHI SHA %2 67
3. % Post digital card | TFe ERTT #2

4. % Primary domain card | TEH SHT 12

Question Number : 98 Question Id : 3354726728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What happens when you select a colurmm and press CTRL, SHIFT and FPlus (+) at the same time in M35 Excel? |
FAT BT & el T AT UFae § UF F1A0 F1 22 5ed g ) CTRL, SHIFT & Plus (+) & U A7 ZaTd 27

Options:

1. ¥ The task manager window opens | THE B [del Gad!

2. % 4ll the numeric values of the selected column are added | THT FTAA & THT TEICAF A1 F I 5T AET 81
3. ¥ A new colurmnn is added befofé theselected colurmn | =T FTad & Ugel % 927 BT 2 AT 21

4. % i new worksheet is added t0 the workbook [ TF 98 ghdiie, TF 98 dhg® 4 92 67 8l

Question Number : 99 Question Id : 3354726729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a storage device? | FEIARET # § 0% @ 295 &4 91 87

Options:

1. % Pen drive only | 0 U9 515
2. % Hard disk only | 7 512 2w
% % CDonly | Wb gt

4. ¥ 4ll of the above | JUHH T4

Question Number : 100 Question Id : 3354726730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following term is associated with Internet je-Mail? | Fma & & #1997 a9g, $et-ic/3-0d o Falad 57

Options:
1. ¥ Plotter | qatey
2. % Slide presentation | TGS HEa
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2. ¥ Bookmark | gEATE
4. ¥ Pie chart | U =
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